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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

Q1 Atomic radius is measured in:.
Ans - X 1. Millimetres

v 2 Nanometres

& 3. Micrometres

/K 4 Centimetres

Question ID : 6913522067
Option 11D : 6913528265
Option 2 ID : 6913528266
Option 31D : 6913528267
Option 4 ID : 6913528268
Status : Answered
Chosen Option : 2

Q.2 10 8650 @) (© 28 DRV PEAD 2 DG HoBLD SERVAT EGod. & DY T, VTS

Ans x1_ g J
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X340
X 4104

Question ID : 6913522061
Option 1 ID : 6913528241
Option 2 ID : 6913528243
Option 31D : 6913528244
Option 4 1D : 6913528242
Status : Answered
Chosen Option: 2

Q.3 A mass of 20 kg is at a height of 8 m above the ground. Then the potential energy possessed by the body is:
[Given g = 9.8ms™?]

Ans X 1. 1568 W




v 2 15687

X 3 1568 N
K 41568 C
Question ID : 6913522066
Option 11D : 6913528261
Option 2 ID : 6913528262
Option 3 ID : 6913528264
Option 4 ID : 6913528263
Status : Answered
Chosen Option : 2
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<2 J10
X 3 W23
v+ T20
Question ID : 6913522036
Option 11D : 6913528142
Option 2 ID : 6913528143
Option 3 ID : 6913528141
Option 4 ID : 6913528144
Status : Answered
Chosen Option : 4
Q5 o g F 1500 kg T3 GTT F F4.5 % 1 s a7 a1l ofr. et ey ke e Sy o2
g 3 g
Ans o 1. 67.5kg
X 2 63.5kg
23 64.5kg
K 4 T0kg
Question ID : 6913522009
Option 1 ID : 6913528034
Option 2 ID : 6913528035
Option 31D : 6913528033
Option 4 ID : 6913528036
Status : Answered
Chosen Option : 1
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Ans x 1.9
X2 4
X 31
v 43




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913522096
6913528383
6913528381
6913528384
6913528382
Answered

1
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Ans x.l. m

v 2 FEdray

X 3 JEHgI

X4 fEerarsr

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

6913522095
6913528377
6913528378
6913528379
6913528380
Answered

Chosen Option: 2

¥ o # @ FlF @ g ey ge 32
Ans o1 31024
{z.m
X 3 %1024
X 4 V1024

Question ID : 6913522005
Option 11D : 6913528018
Option 2 ID : 6913528020
Option 31D : 6913528019
Option 4 ID : 6913528017
Status : Answered
Chosen Option : 1
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Ans x.l_ 33&
X2 a9
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v s

Question ID : 6913522011
Option 11D : 6913528043
Option 2 ID : 6913528044
Option 31D : 6913528041




Option 4 ID : 6913528042
Status : Answered
Chosen Option : 1
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X2 gfafes

X 3. SrrereRrT
X 4 98X
Question ID : 6913522063
Option 11D : 6913528250
Option 2 ID : 6913528249
Option 3 1D : 6913528252
Option 4 ID : 6913528251
Status : Answered
Chosen Option: 3
21 1 kWH = J
A Li
e X 1.36x10°°
v'2 3.6x10°
X3 36x10°8
X4 36x108

Question ID : 6913522060
Option 11D : 6913528237
Option 2 ID : 6913528238
Option 31D : 6913528240
Option 4 ID : 6913528239
Status : Answered
Chosen Option: 3
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Question ID : 6913522050
Option 11D : 6913528197
Option 2 ID : 6913528200
Option 31D : 6913528198
Option 4 ID : 6913528199
Status : Answered
Chosen Option : 2
U Pt # ¥ free R a1 11" F R Fwor S A o
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X HET @
v 4 HeAA T
Question ID : 6913522084
Option 11D : 6913528333
Option 2 ID : 6913528334
Option 3 ID : 6913528335
Option 4 ID : 6913528336
Status : Answered
Chosen Option : 4
Q.1 )
4+ 15625 & FIHA AT H
ans X 1.150
v 2125
X 3. 145
X 4135
Question ID : 6913522001
Option 11D : 6913528004
Option 2 ID : 6913528002
Option 31D : 6913528003
Option 4 1D : 6913528001
Status : Answered
Chosen Option : 3
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

6913522033
6913528132
6913528130
6913528129
6913528131

Status : Answered
Chosen Option : 4
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Ans X1 faTEEH

X2 e

X 3 FHAT

W 4 TR

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913522097
6913528388
6913528385
6913528386
6913528387
Answered

1

6,3, 8 4,3.11, 7, 4,5, 4.
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Ans X'1.135
X 2145
X313
v 14
Question ID : 6913522022
Option 11D : 6913528085
Option 2 ID : 6913528088
Option 31D : 6913528086
Option 4 ID : 6913528087
Status : Answered
Chosen Option : 2
Q.1 fE w35 9 & 175 km &7 AT oAl A1 greith, 3EA 58 knvhr T 3T @ 2.5 € @ #r sk W
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Ans  of 1. 45 km/hr
< 2. 30 km/r
X 3. 36 km/r
X 4 425 km/hr

Question ID : 6913522013




Option 1 ID : 6913528049
Option 2 1D : 6913528051
Option 3 1D : 6913528050
Option 4 ID : 6913528052
Status : Answered
Chosen Option : 3
Q1 3 3 .8 3 .3
» GG
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Question ID : 6913522003
Option 11D : 6913528010
Option 2 ID : 6913528011
Option 3 ID : 6913528009
Option 4 ID : 6913528012
Status : Answered
Chosen Option : 2
Q2 (—12)[11+ {7 x (=3)}] = [4{13— (-3)x (-6)}] =7
Ans x 1.9
X2 -4
X3 4
v -6
Question ID : 6913522008
Option 11D : 6913528030
Option 2 ID : 6913528031
Option 3 1D : 6913528032
Option 4 ID : 6913528029
Status : Answered
Chosen Option : 2
Q.2 An object travels 23 m in 3 s and then another 15 m in 2 s. What is the average speed of the object?
1
Ans X1 7.6m
v 2 76ms!
X< 3 §.0ms!
X4 765!
Question ID : 6913522057
Option 1 1D : 6913528225
Option 2 ID : 6913528226
Option 3 1D : 6913528228
Option 4 ID : 6913528227
Status : Answered
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Chosen Option :

3

Qé2 sth January 2018 was a Friday. Which of the following years will also have sth January on a Friday?
v 1. 2024
X 22023
X 32022
X 42020
Question ID : 6913522020
Option 11D : 6913528080
Option 2 ID : 6913528079
Option 31D : 6913528078
Option 4 ID : 6913528077
Status : Answered
Chosen Option: 2
Q.2 ¢
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Question ID : 6913522019
Option 1 ID : 6913528075
Option 2 ID : 6913528076
Option 3 ID : 6913528074
Option 4 ID : 6913528073
Status : Answered
Chosen Option : 4
Q.2 3 aeer-arerEr ofEdt & FHA: 7T 2, 3ﬂ16 o & g ae &1 g afEE # v & e # w
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X2
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<39
v
Question ID : 6913522002
Option 11D : 6913528006
Option 2 ID : 6913528007
Option 3 1D : 6913528008
Option 4 ID : 6913528005
Status : Answered
Chosen Option: 3
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Question ID : 6913522073
Option 11D : 6913528289
Option 2 ID : 6913528292
Option 31D : 6913528291
Option 4 1D : 6913528290
Status : Answered
Chosen Option : 1
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Question ID : 6913522077
Option 11D : 6913528305
Option 2 ID : 6913528308
Option 31D : 6913528306
Option 4 ID : 6913528307
Status : Answered
Chosen Option: 3
Q.2 A person clapped his hands near a cliff and heard echo after 6 s. The distance of the cliff from the person is:
7 [take v = 346ms™1]
Ans X 1. 2706 m
X 21083 m
X< 3 2076 m
v 4 1038 m
Question ID : 6913522064
Option 11D : 6913528253
Option 2 ID : 6913528256
Option 3 ID : 6913528255
Option 4 ID : 6913528254
Status : Answered

Chosen Option : 1

Q.2
8

Ans X1 Zine

+ 2. Copper
/< 3. Sulphate
/< 4 Hydrogen

is displaced when zinc is added to the solution of copper sulphate.

Question ID : 6913522070




Option 1 ID : 6913528277
Option 2 ID : 6913528278
Option 31D : 6913528279
Option 4 ID : 6913528280
Status : Answered
Chosen Option : 3
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Ans

BZ K12, 'T72.
v 1. C432
X 2 A432
X 3 A434
X 4 C434

Question ID : 6913522037
Option 11D : 6913528146
Option 2 ID : 6913528147
Option 31D : 6913528148
Option 4 ID : 6913528145
Status : Answered
Chosen Option : 2
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Ans

v 1. 3fEaT T=ae
X 2 FoHAT T

X o wfEe dgeret
X 4 UFdT [T T=IA

Question ID : 6913522090
Option 11D : 6913528357
Option 2 ID : 6913528359
Option 3 ID : 6913528358
Option 4 ID : 6913528360
Status : Answered
Chosen Option : 1
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Question ID : 6913522045
Option 11D : 6913528180
Option 2 ID : 6913528179
Option 31D : 6913528178
Option 4 ID : 6913528177
Status : Answered
Chosen Option : 2
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Ans  of 14995195
< 2 4995196
< 34985195
X 4 4905195

Question ID : 6913522030
Option 11D : 6913528117
Option 21D : 6913528118
Option 31D : 6913528119
Option 4 ID : 6913528120
Status : Answered
Chosen Option: 1
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Question ID : 6913522065




Option 11D :
Option 21D :
Option 31D :
Option 41D :

6913528258
6913528260
6913528257
6913528259

Status : Answered
Chosen Option : 4
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X 4 oafaves wiEg

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

6913522099
6913528393
6913528394
6913528396
6913528395
Answered

1
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Question ID : 6913522092
Option 11D : 6913528368
Option 2 ID : 6913528367
Option 31D : 6913528365
Option 4 ID : 6913528366
Status : Answered
Chosen Option : 2
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Ans X 1.0.2
X220 )
v 3. 500 J
X451
Question ID : 6913522062
Option 11D : 6913528248
Option 2 ID : 6913528245
Option 31D : 6913528247




Option 4 ID : 6913528246
Status : Answered
Chosen Option : 4
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Question ID : 6913522072
Option 11D : 6913528287
Option 2 ID : 6913528285
Option 3 ID : 6913528286
Option 4 ID : 6913528288
Status : Answered
Chosen Option : 3
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Question ID : 6913522078
Option 11D : 6913528309
Option 2 ID : 6913528311
Option 31D : 6913528310
Option 4 ID : 6913528312
Status : Answered
Chosen Option : 4
as F IR TH(EIR 2ME) F T R HHAVT W, TrArgRa oy F o
Ans X 1. 1583
v 2. 1538
X 31540
X 4 1358
Question ID : 6913522094
Option 11D : 6913528374
Option 2 ID : 6913528375
Option 3 1D : 6913528376
Option 4 ID : 6913528373
Status : Answered
Chosen Option : 2
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Question ID : 6913522086
Option 11D : 6913528343
Option 2 1D : 6913528341
Option 31D : 6913528344
Option 4 ID : 6913528342
Status : Answered
Chosen Option : 3

Q.4 Vishal is 20 years younger to Arya. Twelve years hence Arya’s age will be 1.25 times that of Vishal. Arya is now
1 years old.

Ans X 1. 78
X272
V'3 88
X 4 68

Question ID : 6913522018
Option 11D : 6913528070
Option 2 ID : 6913528069
Option 31D : 6913528071
Option 4 1D : 6913528072
Status : Answered
Chosen Option : 1
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[ Question ID : 6913522048




Chosen Option :

Option 11D : 6913528191
Option 2 ID : 6913528192
Option 31D : 6913528189
Option 4 ID : 6913528190
Status : Answered
Chosen Option : 1
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Ans x 1. A
X2C
v:B
X 4D
Question ID : 6913522046
Option 11D : 6913528181
Option 2 ID : 6913528183
Option 31D : 6913528182
Option 4 ID : 6913528184
Status : Answered
Chosen Option : 3
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Question ID : 6913522054
Option 11D : 6913528213
Option 2 ID : 6913528215
Option 3 1D : 6913528214
Option 4 ID : 6913528216
Status : Answered
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Question ID : 6913522004
Option 11D : 6913528016
Option 2 ID : 6913528014
Option 31D : 6913528015
Option 4 ID : 6913528013
Status : Answered
Chosen Option : 2
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Question ID : 6913522075
Option 11D : 6913528298
Option 2 ID : 6913528297
Option 3 ID : 6913528300
Option 4 ID : 6913528299
Status : Answered
Chosen Option : 1
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7 Taereat ¥ 9o TEIT 1 A AT AW W H
32, 64, 256, 1536, 7, 122880,1474560
Ans o 1. 12288
< 2122860
< 312268
X 412285
Question ID : 6913522039
Option 11D : 6913528156
Option 2 ID : 6913528153
Option 31D : 6913528154
Option 4 ID : 6913528155
Status : Answered

Chosen Option : 3
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Question ID : 6913522053
Option 11D : 6913528211
Option 2 ID : 6913528212
Option 3 1D : 6913528209
Option 4 ID : 6913528210
Status : Answered
Chosen Option : 4
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Question ID : 6913522087
Option 1 ID : 6913528346
Option 2 ID : 6913528348
Option 3 ID : 6913528347
Option 4 ID : 6913528345
Status : Answered
Chosen Option : 1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913522041
6913528164
6913528161
6913528162
6913528163
Answered

3

Q.5 As per RBI Annual Report 2016-17, what is the estimated value of demonetised banknotes received?
1

Ans  of 1. % 15.28 lakh crore
& 2. T 12.25 lakh crore
< 3. T 13.35 lakh crore
#< 4. % 19.48 lakh crore

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

6913522100
6913528397
6913528400
6913528398
6913528399

Status : Answered
Chosen Option: 1
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I #, M YZ 7 Feafig 8, £XMZ = 32°, and 2XYZ = 16°. £XZY & A foaar &
Ans XK 1. 81°
V2 74°
X 3 68°
X4 840

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 41D :

Status :

16913522021
1 6913528083
16913528081
1 6913528082

6913528084
Answered

Chosen Option: 3
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Question ID : 6913522034
Option 11D : 6913528136
Option 21D : 6913528135
Option 31D : 6913528134
Option 41D : 6913528133
Status : Answered
Chosen Option: 4
Q.5 gumsd ag S A 9T ARUTH TSAET e a1 3yer 9iurH JgEnET Jerg afEt=er
4 Fr#F geer i e @ 7
Ans x
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Question ID : 6913522098
Option 11D : 6913528392
Option 2 1D : 6913528391
Option 31D : 6913528390
Option 41D : 6913528389
Status : Answered
Chosen Option : 1
Q.5 e @ 7 wUT W IFFEIOT & T GENT AT T | T OF 99 R § R e F wew A i
5 ¥ aF AT
e
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Question ID : 6913522035
Option 11D : 6913528138
Option 2 ID : 6913528139
Option 31D : 6913528140
Option 4 ID : 6913528137




Status : Answered
Chosen Option : 4
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Question ID : 6913522088
Option 11D : 6913528349
Option 2 1D : 6913528351
Option 3 ID : 6913528352
Option 4 ID : 6913528350
Status : Answered
Chosen Option : 4
Q.5 galien & Yo 8 knv/hr HX WEfhel 9T 13 kmvhr 7 TTT S| IHS 8 ©E H 84 km F gl aF | IAA
7 A ue ¥ B e e &
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Question ID : 6913522014
Option 11D : 6913528053
Option 2 ID : 6913528054
Option 3 ID : 6913528055
Option 4 ID : 6913528056
Status : Answered
Chosen Option : 2
QS geawr &, FATE &1 61205 & = # fomam oam &1 LEAN & 3w @13 7 87
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v 4 125114
Question ID : 6913522029
Option 11D : 6913528114
Option 2 ID : 6913528116
Option 31D : 6913528115
Option 4 ID : 6913528113
Status : Answered
Chosen Option : 4
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Ans 1 49
2 46
332
4. 30

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913522052
6913528205
6913528206
6913528207
6913528208
Answered

2
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913522085
6913528339
6913528338
6913528337
6913528340
Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

6913522068
6913528272
6913528269
6913528270
6913528271

Status : Answered
Chosen Option : 1

YA wmeEm AR+ L =7 FAr e+ L= 2

Ans X1 747
X 2 347
X 3 21
v 418
Question ID : 6913522025
Option 11D : 6913528097
Option 2 ID : 6913528099
Option 31D : 6913528100
Option 4 ID : 6913528098
Status : Answered
Chosen Option : 3
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Question ID : 6913522080
Option 1 ID : 6913528320
Option 2 ID : 6913528319
Option 31D : 6913528317
Option 4 1D : 6913528318
Status : Answered

Chosen Option : 1
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Question ID : 6913522056
Option 11D : 6913528223
Option 2 ID : 6913528222
Option 3 ID : 6913528221
Option 4 ID : 6913528224
Status : Answered
Chosen Option : 2
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Question ID : 6913522071
Option 11D : 6913528282
Option 2 ID : 6913528283
Option 3 ID : 6913528281
Option 4 ID : 6913528284
Status : Answered
Chosen Option: 1
Q.6 IorTer ¥ 3H FEOAS F A FAC T 2017F THES P AgeT [EEN F FEAMAT KT T o
6
Ans +
X . T TgEe A9
X 2 g
X F & e
Vv 4 F I U9
Question ID : 6913522089
Option 1 ID : 6913528354
Option 2 ID : 6913528355
Option 31D : 6913528356
Option 4 ID : 6913528353
Status : Answered
Chosen Option : 4
Q.6
7 14, 12, 12, 16, 13 3T 18 =7 ACTFTE:
Ans X' 1.14.5
X214
V3135
X413
Question ID : 6913522024
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Option 31D : 6913528173
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Option 31D : 6913528151
Option 4 ID : 6913528152
Status : Answered
Chosen Option: 2

6 #awﬁ4ms’1#6msﬁa$mamélugﬁﬁaﬁgﬁﬁm

Ans

# 1. 3.33 =g
v 2 5.33 g
X 3 4.33 FOCA

Q.8 s vw R o frelt avg W 3 ¥F5 F1 3aA® & AV 8 ke ¥ GeaAS F WA I T §, A T@ a7




X 4 6.33 g

Question ID :
Option 11D :

Option 21D :
Option 31D :
Option 41D :

Status :

6913522058
6913528229
6913528231
6913528230
6913528232
Answered

Chosen Option: 2

Ans !T aaé_

X2 A3
X 3 ol
X 4. FRrSTeRTaT

Y AR e e @S (BCCI) # e Fel W o ¥

Question ID : 6913522083
Option 1 ID : 6913528329
Option 2 ID : 6913528332
Option 3 1D : 6913528330
Option 4 ID : 6913528331
Status : Answered
Chosen Option : 1

Y @ # wew wsn A ¥
Ans X1 H
X2F
v 3 Li
X440
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Chosen Option: 3
Q.9 o = v ¥ 26 SJTI'E‘STF%'I M AIFF 2T A aFar g, v e B s EF A 6
2 fae F @ = aea B Tfe @t Tl B vem-ETy @ G s & o @l ¥ % Ol e § e
m@mtmgéﬁﬁmgﬁ # foraar AT wEEm?
Ans :
X g 4.8 e # s FAFmI
X 2 Og 5.6 e & @ar & S
v 3 Tg 4.8 e & @relr g e
X 4 g 5.6 e # s FFm|
Question ID : 6913522017
Option 11D : 6913528065
Option 2 ID : 6913528066
Option 31D : 6913528067
Option 4 ID : 6913528068




Status : Answered
Chosen Option : 2

T AT T[T T B T B H R §ET oEEm?

e X111 e 12 o

Q.9 gy A TR 9T § S o GIET T F 69 UE # o FehaT g1 ST B &l §E < H 46 WS
3wl R waT §1 YEHIE TRT B @ e w0 o g e F uw e % v aet o w we

Chosen Option :

X217 13 g

X311 T 10 o

Vi1 g7 ue
Question ID : 6913522016
Option 11D : 6913528063
Option 2 ID : 6913528064
Option 31D : 6913528061
Option 4 ID : 6913528062

Status : Answered
Chosen Option : 3
Q.9
4 'qﬁ'tam =v§+2,3’|’tam—catrx E!"H’!?—I’%i
Ans x 1. 4

X232

X3 2

v 4 243
Question ID : 6913522023
Option 11D : 6913528091
Option 2 ID : 6913528089
Option 3 ID : 6913528092
Option 4 ID : 6913528090

Status : Answered

1

5  3THIOT HaT
held:

et
. & #r Ot e ¥
Il SFrar ST TEdr & s S B ud wa ¥ mihd

Ans X 1. TrsshT 1| 3RFaT HTEIOT HIAT &
X 2 TS | 3ehel ITERUT LT &
Vo BT TSRS ST W

Xagarlagrll HFTIOT T g

Q.9 fr 71w Fuw A et & cae @ 9% 3 3@ Teed & ogua # S FuT w7 aEETd 9§

1 7 o w1 Gw g, A Reowo Y, 3, 77 g A 1 A 5 wa ¥ wher




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

6913522032
6913528126
6913528125
6913528127
6913528128

Status : Answered
Chosen Option : 2

% afasT o] 1 SoaEe T AT 87
Ans x.l_ 12 ﬁ

X 2 g THIE

X 3. 3izerrer #r 89

o 4 FuOT
Question ID : 6913522079
Option 11D : 6913528313
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Option 11D : 6913528203
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 6913522012
Option 1 ID : 6913528048
Option 2 ID : 6913528047
Option 3 ID : 6913528045
Option 4 ID : 6913528046
Status : Answered
Chosen Option : 3







